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Question Number : 1 Question Id : 4548933673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

The equation of the plane passing through the point (-1, 3, 1) and
perpmldicular tothe line 2x+3y+42=5, 3x+4y+52=06 1is:

fa= (=1, 3, 1) 9 BTN WM dcl GHAd, W YW1 24+ 3y +42=5, 3x+4y+52=6 &
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Options :
1. X—2y+2z2+5=0

x=2y+z+6=0

4

2 4x+y+22-1=0
+ -!-‘—3:

g Xty+z 0

Question Number : 2 Question Id : 4548933674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The equation of the plane passes thrnugh x-axis and perpendicular to the line

¥~1 y+2 2—3 e

cosB sinHB N 0

i 5, 5, 5, . % A .'I._J. ljf+2 .-._3 . Al
x-38 9 PN W4 dicdd 99 HHAA, ol Y™l =—= & ofEdd 8§ Bl
coz8 sinB 0
Qqﬂilfﬁ\'[]i ?-— l
Options :
1 y=1
2 -l=0

Question Number : 3 Question Id : 4548933675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The direction cosines of the liney—x =0 =x are :
NGl y—x=0==x® [SHbean g :

Options :
1,0,0
i (1, )

,*" 1 i
| y |

=Tz
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Question Number : 4 Question Id : 4548933676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

. e B
If the sphere x~ + y~ + =~ =a” touches the plane Ix + my + nz = p, then :

5

P 2 ) 4 \ " . R
qla el X~ +y° +x" =a” GHAA Ix + my + nz = p, BT TR AT 21, T

Options :

7 J | g
I=4+m=+n-=1

F'} . 2 P
“+m - +n"-=p°
> f
2 2 2 R, e
I“+m~+n"=p~ /a
2 5 | > ] g | 3
4 (IT+m™ +n")p~ =a”

Question Number : 5 Question Id : 4548933677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The locus of the point of intersection of three mutually perpendicular tangent
planes to the surface 22 2_3y*+62"=1is:
qaE 2x° -3y° +62° =1 & U IWER =dq e ddl @ Ufaws g &1 faguy

ah

;3

Options :

- ST [
XY TR =
J
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Question Number : 6 Question Id : 4548933678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

’ x ¥ =
If the plane 24+ Y220 cuts the cone Ay +yz+ =y =0 in perpendicular lines,

qa I'r' C
then :
= x g > : . : -
afe gHda _+i_{+_=0' Wd xy+yz+2x=0 Bl IR Aaq @ § gt
a ) C
r.FJQal ET 'L_‘|T :
Options :
a+b+c=1
1.
a+b+c=0
)
L
a b ¢
4
1,11 4
4 i 7 L

Question Number : 7 Question Id : 4548933679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
If a line makes angles «, 3, ¥, 0 respectively with the four diagonals of a cube
. P - . g R
then the value of sin“ o +sin"P+sin~y+sin~ 0 is:
qfe U ¥@1, U 99 & 9N fa®vl & G HH9: o, B, y, & B gA% &, ol

o

=L S - o, T &
sin“ o +sin” P+sin“y+sin~ 0 &I HF ©

Options :

8/3
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4/3

Z

2/
3.

1
4.

Question Number : 8§ Question Id : 4548933680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The locus of the pole of a given straight line with respect to a system of confocal
COMIC 15 :
Uh HI9S Tichdl & oY U @0 10 9va @1 & gai &1 faguy 2

Options :
a line
, T NG

a pair of lines

, U@ N1 I
a circle
3, % g

an ellipae

Question Number : 9 Question Id : 4548933681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The shortest distance between z-axis and the line A +y+2+3=0=3x+y+2=+2
15 :
T x4+ y+2+3=0=3x+y+2>+2 3R =-38 & 419 B AaH ) g

Options :

9J2

1.
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Question Number : 10 Question Id : 4548933682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The equation of the right circular cylinder whose guiding curve is the circle

S
XT+y

Options :

2

i |

2.

N+ 4+ —ay—yr+a—-9=0

5

4.

-

X“+Y +=z

+*;:—9=0=.1—11;+*;—3 is :

1 gor, foraet apfesf % a9 a2 +y* 427 -9=0=x-y+2-3 8,

2 XYy—yz—2x-9=0

7

X“+y +2+xy+ypz—2x-9=0

9

X“Hy 2tk xay—yEtzx—9=90

Question Number : 11 Question Id : 4548933683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following surface can be treated as a surface of revolution about =-

axis :

for § 9 forg Wdg &7 =-3187 & 9Tie =597 S 9l 2

Options :

-
-

A
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Question Number : 12 Question Id : 4548933684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following curve in R? is parametrized by its arc length ?
f=1 H § BIF-91 9 U I19 B s W WHIdPd 8 7
Options :

r(t)=(t, )

-

)= —,—

D=\ %7
2.

r(t)=(acost,asint),ae R"
3.

r(t)=(acost,bsint)a,be R™

Question Number : 13 Question Id : 4548933685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

It g, are components of metric tensor and [Ic,{;’] denotes Christoffel symbol of
first kind then the value of [k, ij] + [i, jk] is :
afe g, Wfed SRR & aga & a0 [k, ij] e #1 werw ueR @ fag B Ak

ij]+[i, jk] @1 714 2

Options :

92

dx’

dg .
5 da’
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J S ki

5 dx’
‘:_-)g i 4+ r‘_jg L3
d,‘l'i dx’
4.

Question Number : 14 Question Id : 4548933686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following surface is disconnected ?
%=1 H 9 ®IF |1 9ag sl g3 78l § ¢

Options :

1 x* -+-|:;: +2t=1

2 2
=X+
o I
Y4yt -2t=1
3. /
-yt -x"=1
4 TP

Question Number : 15 Question Id : 4548933687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

If the plane x+y+=>=5 intersects the coordinate axes at points A, B, C
respectively, then the area of the triangle ABC is:

afe T x+y+==>5 F=nedi &1 92 A, B, C fa=53l W) Hrear & o 5ys ABC
H HAHA B

Options :
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Question Number : 16 Question Id : 4548933688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

—_— _— —_—

Consider the equation Ax= b, where A=

the following is a basic solution ?

Ax=Db 9HIE R fdaR DIFACTE A=

i< U Hifeld 81 & 7

Options :

Question Number : 17 Question Id : 4548933689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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If x =2, y =3 and = = 1 is a feasible solution of the following linear programming
problem (LPP) :
e .1'=2,1u=33ﬁ? ~ = 1 FA=faad LPP &1 Us 9={Ifdd 84 © :
Max x+2y+4-~
Subject to
2x+y+4x=11
3x+y+5==14
x,y,z20
then a basic feasible solution is :

Options :
1 5
x=—,y=0and ==—
1 = i 2
5
x=2,y=0 and z=—
2. 2
2
x=2,y=0and z=—
5

2

1 2
r=—,y=0and z=—
4 ‘i 5

Question Number : 18 Question Id : 4548933690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The tollowing LPP
M=teiad LPP
Maximize 2xy + x5 +2x3 + 91y
Subject to :
X, +2x,=2
= 4% =9
"11*'12?'13"14 =0
hasa:
® UM U -
Options :

bounded =olution

, IRAE &
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unbounded solution

degenerate solution

; fA%a &

m:m—degenera te solution

4:5&3?3%!3?{

Question Number : 19 Question Id : 4548933691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
For the following LPP
MToiRad LPP
Maximize 3x, +ux,
subject to :
X +X.S4, 58 +35.28, X%, %520
The reduced cost coefficients for optimal solution are :
@ FCaqd 8 @ ol DA AN ulih 81T :
Options :
[2, 5]

—_— =

[0, 4]
3.

4,0
g | e

Question Number : 20 Question Id : 4548933692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The dual of the following LPP :
fFferiad LPP &1 &
Minimize cx
subjectto Ax <D
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Options :

Maximize A'b

subject to ATA =¢’

A<O
i
Maximize A'b
subjectto A< 7
2.
Maximize A'b
subjectto A"A=¢"
L5
- A20
Maximize A'b
subjectto A< ¢’
Az0
4.

Question Number : 21 Question Id : 4548933693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question
For LPP
LPP & foq :
Minimize (—2x, —x, —7x,—4x,)
subject to x, +x, +x,+x, =26

Xy /X5 :Xs, X, 20

the optimal solution of the dual to above LPP is -

&d & S 81 & ¢

Options :

}1. = _2
5

}n. =—j.
2.

?1. = —"7
3
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Question Number : 22 Question Id : 4548933694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The dual of the LPP is :
Afeiad LPP &1 g4 & ¢
Minimize .

subjectto 1 £1

Options :

Maximize A
subject to A =

A<
1 0
Maximize A
subjectto A =1
> L=20
Maximize (—A)
subject to A =1
3 >
3 A20
Minimize A
subjectto A< 1
4.

Question Number : 23 Question Id : 4548933695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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For the following LPP :
f=fefag LPP & foiT -

Maximize 3x +4y
subjectto x —y<-1
-x+y=0

x,y20

Which one of the following is true :
PHIT-9T YT T ©

Options :

LPP and its dual both have solution

LPP 3R 9% &d ol &l &84 &
; P

LPP has a sohution, but the dual does not

5 LPP &1 2o 2 oifbs &9 &I 81 2

LPP and its dual both have no solution

LPP 3R 9% £d & BIs 81 8] ©
3.

The dual has a solution but the LPP does not

; 2d & 8 & oifod LPP &1 841 981 &

Question Number : 24 Question Id : 4548933696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItiplE Choice Question

Using the Vogel's approximations method, the minimum transportation cost
for the following transportation problem is :

arntd & WA f[@fe &1 ugrT a8y AEfeiad uRasd 9ERn &1 <A
URTE Jed € ¢

Destinations

b 1 9 > |70

Sources 11 D 2 S 55
10 12 4 7 90

Options :
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1060 Units
1060 THTS

1100 Units
1100 313

1160 Units
1160 g1

1016 Units
1016 advié

Question Number : 25 Question Id : 4548933697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The optimal assignment of the problem
T G $ gTdq BH

a b C d
1 18 20 17 11
2 13 28 14 26
3 33 19 18 15
4 19 26 24 10
is
3
Options :

1 l=c¢c2—=a3—>b4—>d

> l—=d 2—=al—=d4—>c

l-d,2—c¢3—=d 4—a
=

" l—=a2—=¢3—->d4—b

Question Number : 26 Question Id : 4548933698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The convex hull of the set given below
{{x,y):x,y=20,x,y<1}

1
e
Options :

[0,1] % [0, 1]

n

X-axis X y-axis

Entire positive quadrant
5

Right half plane

Question Number : 27 Question Id : 4548933699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the follot ving sets is a convex set :

Frifarfad ageadl 4 9 -9 999 99 8

Options :
: {(x,y): 2%+ =4}
5 {(.1,};):—.14—1;-23,.1—1:;2':3,3,‘1;20}

{(I,IU)Z| x|€£2,|y | 1}

i {(_-1,}!)2.1: +1u-3:20,.1,.1;20}

Question Number : 28 Question Id : 4548933700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Consider the set of points (0, 0), (1, 0), (1, 2), (1, 1) and (4, 0). In expressing the
boundary point as a convex combination of the extreme points, the values of
A, A, and A3 are, respectively :

fa=gati (0, 0), (1, 0), (1, 2), (1, 1) 3R (4, 0) W fa=ar X | A1 fag &1 ==F fagsn &
ST Ao H o WA, A, 3R Ay BT = BF

Options :
3 . . 1
}"l=_' "'2=0r‘ "'3=_
A 4 4
W
0T gt E T RN TS
5 3 2 3
3 1
}u1=—,}u3=;, ~.3=;
3 = 2 2
" > ’ 1
4’51:':,1’1.3:0, 53=:
4 o l»]

Question Number : 29 Question Id : 4548933701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

One of the extreme points of theset X = {(x, y) :x —y 20,2 <5, x + 2y < 4}is:
gl X={(x, y):x—y20,x<5,x+2y<4} & (P oA o5 2 :

Options :
. (0, 0)
(1, 2)
2.
(1.1)
(5, 3)
4.

Question Number : 30 Question Id : 4548933702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Which one of the following sets has no extreme point ?

freferfad ag==al 4 9 fous o U Y =7 fag 78T 2 7

Options :

(v, y): x“+y~ <1}

Question Number : 31 Question Id : 4548933703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is a correct statement ?

famforRad § & PH-91 Y9 el 8 7

Options :
Basis of a zero vector space is {0}

U I WG WHEte H AER {0} 8
/1

Dimension of R over Q is not finite

R &1 Q W 3™ uRkfag F8f &
2

) Dimensionof Cover IR iz |
CH R W IAAHLE

The empty set 0 is not lineau'l}-* independent

Rag aq= o NRasa; Wad 981 8
4

Question Number : 32 Question Id : 4548933704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Let T:I-"z[:(]—}li[-i2 be defined by T(p(x)) = (p(0), p(1)). Let 51={1,,r,.1'3} and
{(1, 0), (0, 1)} be two bases of P[x] and R respectively. The matrix of T
with respect tobases of 5; to 5, is:

qH41 T:B[x] = R* 93 T(p(x)) = (p(0), p(l)) &R GREMST &1 790 5, ={1,x,x7}
3R S,={(1,0), (0, 1)} F9: Bx] IR R* & ST IMR Z| 5, 9 S, MR & Amel T
T ATE 2 :

8
o 7

Options :
]i_O 1 0]
L 1 @]
1.
"o 0 1}
|3 1 1
2

o O ==
[ R =

Question Number : 33 Question Id : 4548933705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

The rank of matrix A, where

A A Pl EF;IfE, i |

=24 "B =B sof
1. =% 2 i}
A=
-4 4 2
3 -3 4 2
is :
g
Options :
4
1.
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2.

2
=
4 1

Question Number : 34 Question Id : 4548933706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The formula of adj(T) of a linear operator T on C’ defined by T(e, B) = (o + 2B,
o+ P)is:

C’ R U Wad HeRE e T(o, B) = (o6 + 2B, o + P) BTN RN 8, & adj(T) &
GERE

Options :

1. T*(e, P) = (—oi + B, 20+ B)

> T*(o, B) = (a+ B, ai + 2P)

, 170, B) = 2o+ B, —ai + )

, TH(@, B) = (~ai + B, i + 25)

Question Number : 35 Question Id : 4548933707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Let T-R> — R” be a linear transformation defined by T(x, y) = (x, 0). The
characteristic values of T are :

T U a@ $u=w T:R* > R?, T(x, y) = (v, 0) g1 ol 81 T &
ATcTerfires 94 & -

Options :
1,2

collegedunia:

India’s largest Student Review Platform




0,1
4.

Question Number : 36 Question Id : 4548933708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the characteristic values of a 3 ¥ 3 real matrix A are—1, 1 and 0, then :
gfe 3x 3% dArdfas ATe A S ATAAEts A B -1, 1 AR0E, I :

Options :
, A=y
A>=0
2
A’=4
S
y A’ = A

Question Number : 37 Question Id : 4548933709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For a unique solution of the following system of linear equations, the values of
Aand | are :
fafeiad YRas 9 @ U JAfgdid 8 & U A3IRp® #7149 2 ¢

X+y+2=6, x+2y+32=10, x +2y+ Az =1

Options :

}n.=3 l=.l.0
1 b

}u¢3,u=10

3 A#3,u=10

A # 3, 1L is arbitrary (u & fHd @
q{ & o)

4.
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Question Number : 38 Question Id : 4548933710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is not a subspaceof M, (R) ?

fF=fafaa § 9 o9 M, (R) &1 SUHHtE 781 2 7
Options :
Wi={4 € M;,.4,(R) | ay3 =0}

M

1.

> Wa={A e M;u(R) | det(A) = 0}

3 Wi={Ae M, ,(R) | trace(4) = 0}

Al = A}

4 Iﬁk;l =1:f'1 c ...'\VJI”{_-”(R }

Question Number : 39 Question Id : 4548933711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Let (Z, @) be a group. If the binary operation @ is defined bya @ b=a +b-5 for
alla, be Z, then the identity element of this group is :

AT (Z, ©) U6 G 21 O @ U fRonmamd 9 a @ b = a2 + b — 5, W@ |4
a,be L GR URANNT 2, O 39 HH8 &1 dodHd 3999 o

Options :
1 0
-5
2.
1
=
5
4.

Question Number : 40 Question Id : 4548933712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The total number of surjective group homomorphisms from the group Zx; to Zs
15 :

THE Lo 9 Zs R ol ATBTS] FH8 GBI P G&1 2

Options :
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1.

3
2.

0
3

2
4.

Question Number : 41 Question Id : 4548933713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The group 53 X 5; has an element of order :

T8 S3% 5y H UP 3agd &l &Ifc 2 :

Options :
(5]

Question Number : 42 Question Id : 4548933714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

2

Let R=M,,,(Z) be a ring and ¢

((a 0) W :
o li;IEZr be a subset of R. Find the
a )

4

correct statement.

OIII:nEZL R &1 U SU U= 2| &

in J J

{ 1
HIHAT R=M.’:-1(Z) Uch doid 3R ;?:Jl‘

Lo

qre] UTd DITIv :

Options :
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5 is a subring but not an ideal

5 is an ideal
S UHh Asfead &

5 is neither a subring nor an ideal
’ S+ A SUgaid g 3N A B Ub IEfeud 8

5 is an ideal but not a subring

5 Ud Isfeud 8 dfha Ue Sudary 8 8

Question Number : 43 Question Id : 4548933715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Let f : Z V2] =Z [\5] be a map defined by .f{n+Ew§)=n+bﬁ . In the
following determine a correct answer :
gl f - Z {-\Ej —Z w] Uh o _f{n+bﬁ)=n+3w§ & ERT uRWiftg 2|
f=feiftad § & @8 SR ur SRV ¢

Options :
fis a ring homomorphism

1 fUS a1 FHTBINAT 2

f is a group hmnumnrphism butnot a ring hnnmmnrphisn'l

f1is a ring homomorphism but not a group homomorphism
3.

f is neither a group hnmumurphism nor a ring hmnmnnrphimn

9 1 U G GAMBIRAT 2 3R T & TS aod FEGBIRal @

4.

Question Number : 44 Question Id : 4548933716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The total number of ideals and maximal ideals of the ring Z; are :

qoid Z,% 941 asfeae IR dfeadel smsfSact @1 §@& 8

Options :

4,1
1.

1,4

’

2

3 4 0

4 04

Question Number : 45 Question Id : 4548933717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of elements of order 5 in the group Z,. X Z_ is :

Z, % L TE H 5PIC & TN awdl B G

Options :
16

Question Number : 46 Question Id : 4548933718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

The Laplace transform of the function f(t)=1];, where J(f) iz Bessel's
function, is :
Bl f(t)=t]g BT ATTH SFABH 8, S8l Jo(t) 99 Held 2

Options :
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(2 +1)°2
1

(:_}_ 4 l}.'l /2
2.

(:‘-2 + J.}1 2
8

1

(2 +1)72

4.

Question Number : 47 Question Id : 4548933719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

(K]

The Laplace transform of the Dirac delta function 6(f — 3) i
ST Sl Hol O(t — 3) BT AT T FTH 8

Options :
e °
1
¢ = 1
o
i
3
o5
il
3s
4I L

Question Number : 48 Question Id : 4548933720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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2t -3t

._{"‘

The value of J. -
0

L

J'" e MtETHE R
& 1

Options :

f 3
lng_h,[;}
5% P

lngt.lt E |
> s

log.2

log,3

-

dtis :

Question Number : 49 Question Id : 4548933721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If u(t) is the unit step function then the inverse Laplace transform of the

function ——1is:

Options :

é(r — 522yt - 5)

1
Loy i NS ae. &
—(t+5)"¢ u(t+95)
5 o
iz“j’rl”_ 5l'u(.“ —-5)
3 O

~
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3

2t =532 u(t)
6

Question Number : 50 Question Id : 4548933722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If u(t) is the unit step function and 8(f) is the Dirac delta function then the
solution of the initial value problem y" + 16y =8 (f—2), (0)=0, ¥ (0)=0 is:
afe u(t) gHc U WA 2 T §(t) fSUs Soel Wad g O sFRTd dog 99
y +16y=8(t—2),y(0)=0, y'(0)=0 HT &A 2 :

Options :

i{cns 4(t —2))u(t—2)

4
ko
— (sin 4(f — 2))u(t — 2)
5 @
[~
— (sin 41) u(t)
3. 1
. :
—(sin 4f) u(t— 2)
4, 4

Question Number : 51 Question Id : 4548933723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

r
* » y(u
The solution of the integral equation | y) diu=1+t is:
g F—u
- f 1y(11) % .
HHThol GH[HI] If‘hf:l-” @l Bc1 B :
— U
0

Options :

1 _1/9
=123 1 61)
1 3n

1 1,9
—t T (6 + 3t
3 { L

[ ]
gcollegedumas
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1 _3/9
—t 6+ 2
3T ( )
3,
irl""l’(ﬂbn
3
4

Question Number : 52 Question Id : 4548933724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Fourier Sine series of the function f(f) =#,0 <t < 2 in a half range is :

AT fiH)=t,0<t<2% TP ¥ H BRI AT 500 2 :

Options :
o 41" . ((unt)
— | ! 1 };:rt \ 2
1.
o AP ant)
5 cos, |
=l gn 2
2.
% A-1)"*" _ (nnt
E!":l 5].'“* D)
3 u: N
w A=D"F _ (nxt)
yo S e
" — n-mw 2 )

Question Number : 53 Question Id : 4548933725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

[-5 , —®m<t<0

Let f(t)= [ be a periodic function of period 27. Then the value

2 , O<isxm
of the Fourier coefficient ag is -

-5 , —n<t<0

HIHT f{f}=]| = Gt TS 21 NIl DI HATGd Hold 2, T BRI D ag
. D y L) S

& HH B

Options :
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Question Number : 54 Question Id : 4548933726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

’ : 3 :
The smallest pﬂaitive root of the equntu:m X" =5x+1=0 correct to 2 decimal
place is:
THBRT 2 —5x +1=0 @ IUHAT B AT W qb GAHD oA &

Options :

0.30

Question Number : 55 Question Id : 4548933727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The condition for convergence of Iterative formula x; .y = 0(x;) in interval [a, b]
15 :

T G g, g = 0(xy) BT AT [, b] H AFFERO HT U 2

o

Options :
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3

| ¢'(x)] <1
2

lo(x)| <1
=5

0(x)] >1
4

Question Number : 56 Question Id : 4548933728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The iterative function for finding the root of the equation cos(x) — xe' =0is:

T cos(x) — xe* = 0 BT qet Fwrert & fry gevfed wer @ -
Options :

g i)

1: >
O(x)=x— %[CDS(.‘.’}— xe’ )
. 2
o(x)= x+ i(cns(.x )+ xe* )
2
S, =
o x
l?{.‘l}:;(CDE(.I)—.H‘ )
4. -

Question Number : 57 Question Id : 4548933729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Using Tavlor's approximation about xg =0 for the function f(x)=¢ "(0<x<]),

the minimum number of terms in the approximation to find the result which

has error less than 107 is -

col TUIfaHHeE @1 SUANT @%d 8¢ xg=0 W HeHd f(x)=e¢ '(0<x<1) &
FIT H Ay el @ g, aife oo e § 1070 | wy @ e 9,

B

Options :

nz12
1.

nz14
el

Question Number : 58 Question Id : 4548933730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

What is the minimum step size for f(x) = sin x in the interval [1, 3] so that linear
interpolation will be correct to four decimal places :

B f(x) = sin x & ¢ =R [1, 3] § gAGH US & AN F1 2 | e D
HARAYYT SIHAT D 4 WH T g B

Options :

Question Number : 59 Question Id : 4548933731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Find the polynomial of degree 2 such that f(0) = 1, f(1) = 3 and f(3) = 55 is:

felt 2 @1 ague fHa@riay, Said fi0)=1,f(1) =3 3Rf(3)=55% :

Options :

g
1 SiT—6x+1

> Si“+6a+1
o g 1
3 S17+ 6a —
g .
4 Sx=—6a-1

Question Number : 60 Question Id : 4548933732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The nth divided difference of the function 1/x based at the points ag, xq,.......,

15

Bt 1/x BT xg, X7,eeo 2 t'é;gm“ $ ATER 9N pal faaieg 3o 2

Options :
)"

Ageeneeaady

(_1}”

-lUril........‘n”

Question Number : 61 Question Id : 4548933733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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The value of A" f(x;) is:

A'f(x;) &1 HH 8

Options :
Il ’ i
: " :
E{_l}ﬁ 1 5 *.f.'--;f
o Kl(n—k)!
1.
{—". & it 4
» (—1) : f.~+;;
D Kn-=k)""
o K
et g
e T e
3.
e ] n! :
Z{_ ) * e _ ,,f:'~r‘f-l_
4.

Question Number : 62 Question Id : 4548933734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Thevalueof V-Ais:
V—A®AF & :

Options :
— AV
1.
AV
2.
o A Ifr‘r\
a3
A x'(\
4.

Question Number : 63 Question Id : 4548933735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Thevalueof V + Ais :
V+A® A E
Options :
A/V+V/A

A/V: =V /A

NN

ANV 4+ V /A
4,

Question Number : 64 Question Id : 4548933736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

2 3
v s S -
The sum of the series A —T - T =P
wﬂ.;—é;+£}— BT AT 8
Options
hD
1.
A/V-V/A
2.
hA/V
3.
DA/V
4.

Question Number : 65 Question Id : 4548933737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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If the data points (4, 30) and (6, 132) satisfying the function y = f(x), then the
value of f(5), using Lagrange polynomial of degree 1, is :

afe grer A3t (4, 30) 3R (6, 132) Hel y = flx) BT g€ Hvd 2 ol 41 1 &
TSl 9gUe 1 SUATT dRd §Y f(5) BT A1 €

Options :

81

30

Question Number : 66 Question Id : 4548933738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A cubic function y = f(x) satisfies the following data f(0) = 1, f(1) = 4, f(3) = 40
and f(4) = 85, then f"(2) is:

gie BErE oo y = flx), FEfaiaa siesi f0) = 1, (l) =4, fi3) = 40 AR f(4) = 85,
@ Gd€ Bl 2| 99 °(2) B HHA T -

Options :

12

14

Question Number : 67 Question Id : 4548933739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
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1

Solution of f(x)— f(_,x + ) f(t)dt =¥3,1 s is
. | AL 5 6
D
1 ) <
f) =[x+ f(B)dt ==x—= T & & :
: 0 : 2 6
Options :
fx)=x+1
:
flx)=x—-1
5
flx) =2
3 -
4 f(.l} =—x+1

Question Number : 68 Question Id : 4548933740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

dy _y—2x

It , ¥(0) = 1 then using Picard's method the value of y(0.1) correct to 2

dx y+2a
decimal place, is :

e dy  y—2a

af ,4(0) = 1 1 fiwrey f[AfF 9 1(0.1) 1 #4 S2HA & 2 W T 2

dx y+2

Options :

0.98

0.69

Question Number : 69 Question Id : 4548933741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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An acceleration of a particle in f seconds moving in a straight line is (2f + 1)

metre/sec. If initial velocity is 4 metre/second, then velocity of particle after 2
zeconds will be :

U YT W U YT J U YET 8, SHET @l uhs | (2 + 1) Ho/Fave 2| Ay
YRS T 4 Hlo /TS € 1 2 UHUS & q18 HU PI 97 EFT :

Options :

10 metre /sec.

, 10 ey /HHve
5 metre/sec.
5 5 HICY/HHTS
15 metre/sec.
, 15 A /TH0s
7.5 metre/sec.
) 7.5 HIcx /DS

Question Number : 70 Question Id : 4548933742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the journey from station A to station B, a train moves with uniform
acceleration in first one fourth of its journey and last one fourth part with
uniform acceleration and in middle half part with constant velocity. The
average velocity of train is :

WIH A 9 99 B a®F & I H T ©F U4 A1 & Yso U drens 2ed H
3R H/EA Y AT § TR o7 & A1 Foidl 21 ©F &1 3ir9d 99 2 ¢

Options :

1 _ '
— X maximum veloc lt}-'

%xaﬁwéﬂ
1

2
— X maximum velncit}*

2 2
= x JeHad 9

collegedunia
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X maximum velocity

N | b=t IO | =t

x FferehaH a7
3
3 : :
= X maximum velocity
3 e, 5
— X HAFHTH 99
4 4

Question Number : 71 Question Id : 4548933743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A particle is thrown in vertical direction, the ratio of times by which particle
will be at half of its maximum height is:

U HU B FHEer fRun § e @A W 8, §HY @ Jgua F1 BT o9 B
Jfereray Sars & IH 2. W B

Options :

. 1:(2+2ﬁ}

1: 2+ +/2)

2

1-(3+242)
3.
y 1:(4+ ﬁ}

Question Number : 72 Question Id : 4548933744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

A particle is thrown with the velocity v such that its range on horizontal plane

is twice the maximum height obtained. Its range will be :
(where g is the acceleration due to gravity)

oI 1 g Sars | S 81, TSI Sfds IR 26T (S8l ¢ THeId TR 2)

Options :
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1. 98
—lz*l
> 38
«'Lr*z
5 28
L
4 ‘8

Question Number : 73 Question Id : 4548933745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A train of M kilograms is ascending in slope of 1 m in # sec. The velocity of
train is v m/sec and its acceleration is f m/ sec”_ The horse power of engine is :
M fHarEmg & Uh o n Udvs H 1 Hlo A F 9 Y& 81 ¢ &I 99 v Hlo/JHvS
AN BT ©RU fHlo/FHvs” € | I &I HLGUIfad 2 :

Options :
Muo(nf + g)

1 ne

Muo(nf + g)

5 100ng
Muv(nf + g)
5 7ong
Muo(nf +g)
4 2ng

Question Number : 74 Question Id : 4548933746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The two balls of Billiards having same weight and velocities 6 cm/sec and

—Scm/sec collide directly. If coefficient of restitution iz 0.8,

velocities will be -

then their final

faferasy @1 WHH AR arell &1 76 f99®1 97 6 HHlo/TdHvs AR -8 Hilo/HHTS T,
Hig edperel ¢ | afe Reege = &1 i 0.8 8, a1 3 3ifaA 77 & :

Options :

9
2 and -1-%1- cm/sec

fJ
o . \
2 3R -1—51- HI/ qehUe

e @

:—l—{ and -2—3 cm/sec
5 5

_rll 341? ﬂﬁr/m

2. °, o)

-
_—l and E cm/sec
5

. P
%eﬁ?éﬂﬁ/m
3 5

. and —3 cm/sec

5

- 33
4. 5 5

wﬂ/m

Question Number : 75 Question Id : 4548933747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A uniform rod of mass m and length 22 can turn freely about a fixed end. The
least angular velocity with which it must be started from the lowest position so

that it may just make complete revolution is :
(where ¢ in the acceleration due to gravity)

m GG 3R 20 IR 6 Uh THM B8 Wl Uh R IR I ¥H 9adl 28| Jad &4

S 97, fSas 91 39 ey ool Rufd |9 g% $a1 9e afe a2 3@ a@ 9

TP
Options :

3g

a

(STET g oy @R )

-

—
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The moment of Inertia of a circular disc of radius a and mass M, about the
diameter of the disc, iz :

a FBrom 3R M garm arel MaeR 53 &1 996 2 @ IR J$d 3T 2

Options :
1 -
—Ma~
3’
;18
2
= Ma?
3
.
i .'-‘VI i1 2
4
3.
1 3
—Mn~
2
4
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A homogeneous triangular lamina whose sides are 3, 4 and 5 cm is suspended
by a rope from the mid point of longest side. That side will make an angle with
the vertical equal to :

U I iy S, fSer g9] 3, 4 3R 5 Wle 2, 61 e @dl qoll & 72
feg & TR ERT SCHEl Gl 2 | 99 Yl & HedlEx & |1 g1 797 B 2

Options :

S l(%}
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The coplanar forces of magnitude 1, 2, 343 and 4 Newtons are acting on a
particle. The angle between first and second, second and third, third and fourth
forces are 60°, 90° and 150° respectively. The magnitude of its resultant will be :

1, 2, 34/3 3R 4 EE & GATAT T TH BV W B X @ 5| TR AR T,
TEY 3R AR, Y iR WY gl & 9 @ B0 HAEE: 60°, 90° AR 150° 2|
URUTA gt &1 9iRHATT B6T

Options :
1 Newton
1 e

:

\E Newton
> V2 REA
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2 Newton

3. 27cH
3 Newton
i 3 <cH
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A heavy uniform rod AB, of weight w is filled with any hinge at A and on
downward end at B, a horizontal force F is applied. If in the state of equilibrium
the rod makes an angle 60° with vertical, then the magnitude of force F will be :

Uh GHF MR TS AB 99®T 999 w 8, A W W &9 9 997 830 2 3N < 3
AN B UX Uep &fcral 9e1 F ol 13 | e Agers & Rerfd 3 s Feaier | 60° H10
gTaT 2, a1 9c1 F &1 UiRETT 8197

Options :

W =

—3

2

il 3

Z £
3.

T{‘JE
4 4
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From a circular lamina whose radius is r, a small circular lamina is cut such that
its diameter is a radius of the bigger lamina. The centre of the gravity of rest of
the portion from the centre of the lamina will be :

Udh ATelpR oifaar fogst 3 r 8 Ue DIl MAThR g4l §9 d¥g 9 $Ie] Jdl

TR BT D BT -

Options :
1
_r'
3
3
1
e JF
5
i
1
e
=
1
_r
o
4.
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If a particle moves in an ellipse of semi-major axis 'a' under a central force
directed towards the focus of the ellipse, then the velocity v at any point of the
pathis given by :

gfe B S JTUE el @' B SHgT J FAdl © ol Ub D 9 B dgd aregd

e

@ HIbYd Pl AR AR Sl 2, a1 I & B fag W 97 o &M -

Options :
> o
ok
r A/ /
2
2_2u
¢ R
y
2.
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" r a )
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A particle describes the curve ¥* =a% co0s20 under a force to the pole. If the

central acceleration is P, then :
\ 5 P 2 F \
Ueh B i 91 @ d8d 9 r~ =a" cos20 BT FEI0 S 2| afg d=1g @ oy P

Ak

e, dl:

Options :
Proos
1 I
Bios
!,3
44
P o< —1.;
3. a2
1
Po—
4. r*
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If (r, 8) be the polar coordinates of the position of a particle moving along a
plane curve at time f, then the transverse component of its velocity at time £ is :
afe (r, B) Teb B BT GHY + TR A =906 21 S U dod 9p ) gH V2T 2, dl ¢
qHI X 39D 97 & JIRY °eh 2

Options :

collegedunia:

India’s largest Student Review Platform




i)

dat
1.
d_r
dt
2
s
y —
dt
3.
1d(,2d6)
rdt\ dt)
4.
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: dy d
Let y(f) be the solution of initial value problem ff-%{;:—l_u:{], y(0)="b
gr-
F:T—'I:(O) = 2. For which values of b, lim y(#)=0 :
( f—o0
S " d:u dy dy : \
AT y(f) SR 97 U ff;’ - f} —2y=0, y(0)="0b ?(0)=2 FTEABI DD
ar- { {

fre A9 @ AT lim y(t)=0 :
t—a

Options :

-1

there iz no such value ot b
Z'-‘ Gl ':.!q:H -:Iil.% T‘]T‘:f '_‘|€I ?

[ ]
gcollegedumaa
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Let y; and 1y, be two linearly independent solutions of the differential

52
equation fd f - ﬂT"’(-t-a‘_:,r:{], then the Wronskian W(yy,15)(f) is (where ¢ is a

f”'_ E‘H'

constant) :

:

\ i 1 & L gy

AT yy 3Ry, AdHA THIHN] rt; Ef—i-f;:-+~h;=0 ® o W& Wad 8 8, ol
g at- '

NIES T W1, v2)(1) g (J2T c U IR 2) :

Options :

=l
i
=

ce

b

ce
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The differential equation of the family of lines passing through the origin is -
Tl favg 9§ Bx WM el Xl Y913l & WHE &1 dhel FHIHR 2

Options :

xdy —ydx =0
1. '
5 X :‘ftl; s = _Urf.l =0

3 xdx + ydy =0
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2 2
" x“dx+y dy=0
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f2
Consider the differential equation éﬂg +y = cosect by the method of variation
|

of parameter, a solution is computed of the form y(t)= fi(f)cost + f>(t)sint,

where fi, f> are some functions, then :

i -y G 73 s A
HAabol FHIHI] ;t;”{u:cnsecf R fgaR S | 9y 3ATe WREer & fafe 9

U & y(t)= fi(t)cost+ f>(t)sint, &I AT 2, 81 f1, fr PIs B4 ©, Ol :

Options :

=4
. f1(f)

fa(t) = tant
2.

A)=¢
3.

ft=+
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Let p(x) be a continuous function such that general solution of the differential

5

. 2 d”1 T .
equation x~ if ,f —2.1‘(1+.1);—!+p(.1 )y=0 is y(x)=cya +;r2.1fl‘ where ¢;, ©
ax- x Z

are constants, then :
A9 p(x) U U HaAd e ® B aba HAIDHRO

:
> d71 Ti ﬁ -
'“4—2-*'(1+-1'1%+P(-r1u=0 P TP WHIY B y(x)=cix+—cpxe” & SIEl

dx~ dx 2

cy, € AN &, © :

Options :
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p(x)=x+2

1

p(x) = ™
4
: p(x)=1+2

p(x) =2(1 + x)
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Consider the partial differential equation :—I;+%= x,xe R, t>0 with initial
condition 1#(x,0)=0(x),x = R. Then: |

HITH dhel GHIHIY] %-{-%:A,AER,#}O B URMBIHE 91d u(x, 0) = o(x),
xe R & 9Gre fagr $ifsie o :

Options :

u(x, t) =0(x —t) + f .1'—% ~|f

1.
5 u(x, t)=0(x + 1)
, f
u(x, H)=o(x =) +x+ —
3. 2
wx, t)y=0(x —1)
4,
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Question Label : Multiple Choice Question
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. : Jd°u o u . ikl
Consider the wave equation —-=—,1€ IR, { > 0 with conditions u(x, 0) = 0

rjfl o
It}
and —(1,0)=cos(1),1 € IR . Then :
r
. *u 0t \ "
T FGHIAN —=——xeR,t>0 & %@ wukx, 0 = 0 3R
ot=  dx~
) : ;
%(.1,0)=cn5{.1},.1e R & 9/ far #ifew, o
-
Options :

i(x, t) = cos(x + )

u(x, t) = sin(x — ) — sin(x + f)

u(x, t) = cos (x) sin (t)
5

u(x, t) = cos (” sin (J.:)
4,
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5

' _ A d - ,
The differential equation x> 5 f +x2d (X A pz )Jy=0,p=0 is known as :
dx~ dx
2 dzzf dy 2 9 -
SFabd FABHIT x ) +.1-f—~+(.1- —p7)y=0,p=20 W= €T & :
ax- ax

Options :

Bessel Equation

Legendre Equation

Euler Equation

3 ATACIY HHIHYOT
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Lagrange Equation
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3 "2
. " i d-1 di 5 2
A particular solution of ; - : T =X

A dx° dx

r?3t; dzu di - y . . A
; 3+ ; g f'!'*‘!f:-i"*l‘u_-i'-l &1 U T[99 (particular) 86 & :
X " o g ax

Aqhol GHIHN]

Options :
.
.\'5-1-514-2.1 —-121
1.
= ) ;
x° —5xt —2x2 +125x—121
!
5 2
v +5x 4222 —125x+121
2
> —5x 41252121
q.
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—

The initial value problem d—l: = ,“/ ly|; ¥(0)=0 has:
i

Y _ TyT; 4(0)=0 <& & -

SHPE 9 SR Fa
L

Options :

no solution
hig Bl B

unique solution

Jfedig &

collegedunia:

India’s largest Student Review Platform




two solutions

3,

infinitel}' many solution

461_'1’:5133
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i A T, > . du dit du
If u= e then the valueof x —+y—+x— is:
Y+2 Z+X X+¥ da dy 0=
R ! > . ou du du 4
e u= - - - al A—+y—+2— I HH & ¢
Y+ Z+X X+y dx = oy 3
Options :
0
1:
log. u
o
ulog, 1
>
3
i 2ulog . u
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By using Lagrange's Mean Value theorem the value of |cosb—cosa| is:
SR~ & HIET {F UHA BT WA HYd 80 |cosb—cosa| &1 HH €

Options :

i 2 |E’ —ﬂl
o & 'b—a|
g @ b —a
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1+1
E p) 3
The value of I(.x ~+iy) dx along the curve y=21" is:
0
1+i
2 ) : a
(" +iy)d= BT AE y =2 Th & AFAN € :
0
Options :
5i+1
6
1:
5i—1
6
2.
-
ool
6
g
5i + 1
4.
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The values of P,(1) and P,(-1), where P,(x) is Legendre polynomial of degree

I are
P,(1) 3R P,(-1) & #F & W& P,(x) BIC n HT dAloing 98U% 2

Options :
y, el

1,-1
&
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The differential equation of a simple harmonic motion, given by x = A cos (wif + ),
where A and 0 are constants, 1s :
x=A cos (wt + 0) N BT U U O¥a AEd T, Wl A 3R ¢ ReRie & &1 aad

HHIHNUT B
Options
af:,‘t
— — iy =0
i dt-
Ifz,l -~
— 4+ 70
dat=
2.
i
: ——wx=0
dat=
=
%3
I —+mx =0
ot dt=
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G Bl | q(x) AN Jy(x) D HA
5 o

Options :
| ;
v ——L08X;
A
5

The values of Bessel's functions | (1) and J; (x) are:

[—— Sl A
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T "\ ma

[rx T
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5 N2 2
ht_']L"i:n A ;’HCD”
s Y& ThE
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3 ”
: o : . - : _ > o -
The partial ditferential equation for the equation 2z =—+ ';., (where a and b
a )
are parameters) 1s :
2 ¥,
P | " | g 5 - L Ale ) 4 by
PRV 22 =— +'f., & o Ao 3rada GH9IhN0 8 (Gfgl a 3N b TN g} :
a* b°
Options :
1 Z=qX + py
2> =gx + >
5 qx + Py
27 =px +qy
3 F 1
4 QYA

Question Number : 101 Question Id : 4548933773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

- e ' - 5 :
The orthogonal trajectories of the family of curve y=ax" is (@ and ¢ being
constants) :

<,

NaES 3 g &N o A - .
ashl & URAN y=ax~ & TEad cudedd 8 (o AR ¢ eRiE 2) -

Options :
7 7
B
——f—=
1. £ D

collegedunia:

India’s largest Student Review Platform




ot
.

4.

Question Number : 102 Question Id : 4548933774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

= 2 =
The evolute of the parabola y~ =4ax is:

p) 5 A
Ndcid y~ = 4ax Pl gdIcc & :

Options :

27&_1;2 =4(x— 2:?)3

8
... ¥ 3
day~=27(x —2a)
2.
9
27ay =4x —2a)"
3.

]
day=27(x—2a)"
4.
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Which of the following is convergent ?
=1 | 9§ &IH-ar JEEnt 2 7
Options :

!
7
) JIng:H

1.
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5 1
ﬁ‘n inlog, H(IDBL_ lngf ")
2
'3 1
“= nlog, n(log, log, 1)~
5
=5 n(log, n)**
4.
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» SI1 A

3

The integral [ dx converges iff :
- __Ill
1

*sina b egiig SRV - W
Fetd | ix IATHERT & dfe 3N hdd 9

- L
-P

"1 A
Options :
P> 0
i 1
“LJ e ]_
2.
1< 0
3 F
p<l
4.
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If f(x,y)=1log,(cos’

e f(x,y)=log.(cos

Options :

cos(e” )—1

o

: 1+sin’(e*)

cos (X + V)

—sin (X + )

-

2 d
¢’ ))+sin(x +y) then —
dy

5

_if(.l',_u} is :
da

d

2(1"‘1’_ ))+sin(Xx + ) Bl O — i f(x,y) BT
: dy dx~

—cos(x +y)
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Consider the space S={(x, v) | 2, v € Q} < R?, where Q is the set of rational

numbers. Then :

gfe gR9 dEEll & SgeEd I QA MEUd P s a S={(x, v) | x, v

RzﬁﬁT:

Options :

e = 2
S is connected in IR~

& ; 2
5° is connected in R

" R* ¥ s° |afaq 2

S is closed in R?

R®> % S¥ga @

>
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ey 5 .
5¢ is closed in R~

R*¥H s° F}'r}_ﬁ g
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1
The value of the intergral I lngcﬁ dx is:
0

1
TRl [ log, vqnh @ HH B -
0

Options :

1
3 B:

2.
1
— log,2xn
2 B
>,
1
glngf-lrt
4,
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Letf: R— R be a continuous map. Choose the correct statement :

g1 fF f: R > R U% Had FH=d 8 | |el ®99 g

Options :
f([0, 1]) is bounded
f([Of 1) NS g
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f is bounded

fuReg 2
2.
The image of f is an open subsets of R
f@! afdfe R &1 Us fagd Soq=ad 2
=
£7([0,1]) is an open subset of R
f1([0,1]), R®1U& fga Suag=ad 8
4.
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Question Label : Multiple Choice Question

- =

=i of > 1 |
The value of p———d> whereC: |z| =2andz=x+ iy, is:
-4 +9
C
" 11': . . - .
'bl th oigl C ‘| =28 Ud z=x+iy,®l A E :
L2+
Options :
2 T
i I
4
2.
6 i
3.
0
4,
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The value of flﬁ = whereC: |2 +2i| =land==x +iy,is:
rite Al o
L8

f-!-: s ; & g 2
"f}'r ORIC: [2+2i| =18 Wzx=x+iy, FTHF 2 :

‘{‘__ -~ +4
Options

in/2
1.

n/2
4

-n/2
.

—in/2
4.
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Which of the following statement is nof correct ?

feeiRad F2F 8§ 9 $i49-91 928 J87 & 7

Options :
f(z)= 27 is analytic for any point =

f(z)==" f&@ M - & fog deaifis wom 2

1.
f(z)=sin7 is analytic for any point =
f(z)=sinZ fHAl 41 = foQ deeriie o 2
2.
f(z)=7 is not analytic at any point =
f(z)== el A1 ~ & foIv qeciftes Bog 81 2
G
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f(z)=e¢" iz not analytic at any point =

f(z)=c" foll &t =& o Jeaifis wam =4 2
4
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The value of the lim —(1+2Y2+3Y2 & +4Y") is:
n—oo M

n—roo J1
Options :
|

o
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Which one of the following statement is nof true ?

fr=fafad 3§ ¥ #19-91 U &Y+ G 78l € 7

Options :
4 |
xn i "
The series » = is convergent

—i(n+n”

2

v i
g S i . JAENT B

—(n+1n~
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:
The series Tf 1 +T | is divergent
r:_‘l n)
1 —n> /2
ot Y| l+—=| S @
n=1" "nJ
2.
. =5 I
The series Y — is convergent
| 2
nzl”
" ot _I_ 3
gy — IIHERT 2
— -
rr=l”
3.
AT
The series S 37" Y iz convercent
Y. g
n=1
. S ZE g - "
it S 37N fard
—
=]
g,
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Let (X, d) be a metric space and A c X, then which of the following is not

correct ?

A9 (X, d) U Afch 9 & A c X, ol f=foifaa § 9 &F-91 92 98 2

Options :

A'c A
A° is open (A® Tagd )
AcB= A°cB°®

AN B*"=(AUB)®
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The value of triple integral J j wfl— '1; - 'H; - :; dx dy d= over the ellipsoid

(1 b C

- - 2 ' > 3 >

" - } = -
A E ; . A l x
e : + -;‘i. - =1&% SR =FEEHAA .'”'\;l_ — — ';,, _— dx dy d= &1

i ] 3 g a- 3 =

g 2
n-abc”
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If f(x) = sin 1, g(x) = cos x and Ii(x) = tan x, then there exists at least one c € (n/6,
n/4) such that :

qfe flx) = sin x, g(x) = cos x TIT h(x) = tan x, (/6, */4) § GR9IET 2 &1 F5 9 FH
Udh ce (n/6, n/4) &1 AT 39 YN 81 b -

Options :

fe) f(r/6) f(n/4)
glc) g(m/6) g(n/4)|=0
W) hm/6) hir/4)

collegedunia:

India’s largest Student Review Platform




fc) f(rn/4) f(n/6)
g(n/4) g) gr/6)|=0
f(r/6) g(x/4) T (c)

2.
f(r/4) g(r/6) f(c)
hin/4) g'(c) Nh(m/6)|=0
] I'(c) f(r/6) g(n/4)
hn/6) g(m/4) ()
gc) gm/6) flc) |=0
nr/4) W) g(n/4)
4,
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1 2%

By changing the order of integration, the integral I }7 f(x,y)dy dx can be
0Jv

expressed as :
12—y

HHTh -.JL'“'I’H)J” dx ¥ WUTHAq @& HH Bl d9ed4 & 4aIg g9 daad fhar o
0

i

qbdl & ;
Options :

—X

2 ,
_[ f(x,y)dx dy + f(x,y)dx dy
0

O Sy, 2

O ey I
0ty |

1.

2

o |

A

I f(x,y)dx dy+ i
0 0

—

f(x,y)dx dy

= e L
0 Sy |

~

J f(x,y)dx dy+
0

2—-2

j f(x,y)dx dy
0

D'-—.H

WO SR
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4

I flx,y)dx dy+
0

7 —
LA

f f(x,y)dx dy
0

0O ey, |3
e W e
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(1 xe[011nQ

If f(x)=+ ’ 5 then -
: -1 , x€[01]n(R -Q)

[ re[0,1]1nQ

e f(x)=+
S {_—l , xe[0,1]Nn(R -Q)

Options :

1
f1is R-integrable on [0, 1] and |‘_?"{~l ydx =1
0

1
f [0, 1] &® R-GHTH-Y & aAl J-f“ yix =1
0

d.
z
fis R-integrable on [0, 1] and | f(x)dx=-1
0
1
£, [0, 1] TR R-FFIHTIA & T [ f(x)dx =1
0
2.
1
fis R-integrable on [0, 1] and f_,}"(.x ydx=0
D
1
£,[0, 1] TR R -\HIGTT & T [ £(x)dx =0
3 0

fis not R-integrable on [0, 1]
4 £, [0, 1] W R-FHIGANT T2l €
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X

’alue of integral J. e/ ¥Wdx dy is:
0

e W

X

1 1-
HHTR T J | ¥ Y Wdx dy &1 AE B
00
Options :
(c+1)
5
(e—1)
vl
—; (e—1)
I
1 _
E((‘ + 1)
4.
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Let % .4(x) denote the function which is 1 if vy € A (A < R) and 0 otherwise. If
4

. 1 g
f(x)= E — Xfo,n/41(%), x € [0,1], then f(x)
n=1 M
qHT 5y 4(x) 99 Tod @I Aide @Xar 2 Wl dfca xe A(Ac R) & dr 1, a0

. _ I | -
FAT 02 | IS f(x)=D —=Afonra)(x), x< [0,1], T fix):

n=1 n

Options :

is not Riemann integrable on [0, 1]

[0, 1] ® VM IHda-1g 98] 2

15 monotone function on [0, 1]

5 [0, 1] R UHhfat Had
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is not monotone function on [0, 1]

[0, 1] R UHfa B -8l &

is a continuous function on [0, 1]

[0, 1] TR Had e &
4.
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